TTLB: ACTION 2

Alice, Bob, Charlie, and David have all been invited to a
party.

Charlie says that he will go to the party if (and only if)
Alice and Bob are going to the party. David says that
he will go to the party if (and only if) Alice or Bob is
going to the party. If Alice decides to go to the

party but Bob decides not to go to the party,
which is true?

A. Charlie and David both go to the party.

B. Charlie goes to the party, but David does not.

C. Charlie does not go to the party, but David does.
D. Charlie and David both do not go to the party.
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